Math 1
6.6 Systems of Linear Inequalities
Unit 1 Day 8
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The solution to a system of inequalities is the overlapping shaded regions. 

To find this region:

1) Solve for y

2) Find x and y intercepts, and graph using those

3) Show dotted and solid lines

4) Shade each inequality in the proper direction

5) Shade the overlapping region (the solution set) darker!

Example 1:  
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Example 2:  
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Example 3:  
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Example 4:   
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Example 5:   
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Example 6:  
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          G R A P H I N G  C A L C u L a t o r  S: Systems of Inequalities  

Directions: Match the system of inequalities to the correct graph.     

                                                    
         (Hint: Use your graphing calculator) 
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      A)                                        B)                                           C)                                            D)          
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       E)                                        F)                                             G)                                            H)                                

  Equations           Answer 
 Equations                 Answer
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1)   
5)    


 ____________
     _____________
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2) 
6)     


 _____________
      _____________
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3)    
7)


______________
 
______________
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4)     
8)



______________
  _______________
Solution Possibilities:





Intersecting Regions:�Overlapping shaded region is the solution





Separate Regions:  


No solution exists
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